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1. Who is the author of Footprints Without Feet?
A.H. G. Wells
B. Victor Canning
C. Ruskin Bond
D. Robert Arthur Jr. (A)
Explanation: Footprints Without Feet was written by
Herbert George Wells, famous for science fiction
like The Time Machine.
2. What surprised the two boys on the steps of a
house in London?
A. A pair of shoes lying on the steps
B. Fresh muddy imprints of bare feet
C. A piece of cloth hanging from the railing
D. A lost wallet (B)
Explanation: The boys were startled to see fresh
muddy footprints of bare feet with no one in
sight.
3. Whose footprints were the boys actually
following?
A. A thief escaping the police
B. A homeless beggar
C. Griffin, a scientist
D. A ghost ©
Explanation: The footprints belonged to Griffin, a
scientist who had discovered how to make
himself invisible.
4. How did Griffin make his body invisible?
A. By applying a special paint
B. By drinking a magical potion
C. By swallowing certain rare drugs
D. By wearing a cloak of invisibility ©
Explanation: Griffin consumed rare drugs that made
his body as transparent as glass, though still solid.
5. Why did Griffin set fire to his landlord’s house?
A.To take revenge for being disliked and ejected
B. To experiment with fire and invisibility
C. To destroy evidence of his experiments
D. To escape from the police (A)
Explanation : In anger and revenge against his
landlord, who disliked him and tried to evict him,
Griffin set fire to the house.

6.

Why was it a bad time of the year for Griffin to
wander London without clothes?

A. It was the rainy season

B. It was mid-winter and bitterly cold

C. It was a very hot summer

D. It was stormy weather (B)

Explanation: Griffin had chosen mid-winter, when the

air was extremely cold, making it impossible to
wander unclothed.

Where did Griffin go to protect himself from the
cold?

A. A hotel

B. A big London store

C. A railway station

D. A friend’s house (B)

Explanation:To escape the bitter cold, Griffin slipped
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into a large London store to keep warm.

How did Griffin make himself visible inside the
store?

A. By rubbing his body with flour

B. By wearing warm clothes, shoes, an overcoat,
and a hat

C. By drinking wine

D. By applying a chemical solution (B)

Explanation: Griffin broke boxes, took shoes, an

overcoat, and a wide-brimmed hat, making
himself look like a normal man.

How did Griffin escape when the assistants found
him in the store?

A. He fought them bravely

B. He pretended to be a customer

C. He ran out fully dressed

D. He removed his clothes and became invisible
again (D)

Explanation: Griffin panicked when chased by the
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assistants and escaped only by removing his new
clothes and turning invisible again.

What is the key learning outcome highlighted in
this part?

A.Revenge is the best solution to problems

B. Cleverness always guarantees safety

C. Science must be used ethically and responsibly
D. Invisibility ensures freedom (@)

Explanation: The story emphasizes the importance of

using science ethically rather than misusing it for
selfish purposes.
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